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Ex 24.3

WWe will use equation in diameter form.
(-2 (2 +2) + (3 +3) (y-4)=0
-4+t —y-12=10

2 — = Th =) (T
2g=0, 2f=-1 s o1y
1
=0 f=-—
. 2

Centre of the circle 15 (0, %}

= ﬁ+l+m
4
N
P :
2

Q2

Centre of the drcles
X4yl rtn 14y -1=0

is (-3, 7)
and x% + % —dx +10y -2 =0
i5 (2,-5)

Equation of the drde is

(¥ X)X =X+ (Y -y [y - va) = 0
= [(*+3[x-2)+[y -7}y +E)=1D
KP4 AN -2 B+ ye-TW+Ey-36=0

= X2+}-"2+X—2}-’—41=D
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Let the sides A8, BC, <0 and 24 of the square ABCO be represented by the equations
y=3, x=0 v =6 and x = 9 respectively,

Then, coordinates are
Al6,3), 8(93), C(96) and D(6,6).

The equation of the circle with diagonal 4C

(% -6)[x -F)+[4-3)[4-6) =D
= ¥Z_ By - Ox +54+yZ - By +18=10
= x2+y2—15x—9y+?2=ﬂ

The equation of the circle with diagonal &0 as diameter is
(¥ - (x-8)+[y -3 [y -6) =0

= xz—gx—5x+54+y2—3y—Eq,-'+18=EI

= x2+y2—15x—9y+?2=ﬂ

x2+y2—15x—9y+?2=ﬂ

Q4
The given ecuation are
= =40 )
34y =22 L)
X= 3y = 14 i
x4y =62 i)

LetA,8 C& D are the points of intersection of the lines (i) &[ii), [1)& [ii}, [ii)&(iv] ad (i) &)
A=(71), B=(8,-2), C=(202) & D=(19,5)
AC will he the diameater of ~he rircl e

s,

the equation of cicle is
-7 (x-20)~(y ~1){y -2)= 0

= ;<2+!.e2—2?x—3!,f +142 =10
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Q5

The line 2x +4y = 12
will meet the axis at 4 |:III, 3]&8 |:4, III:|

Since the circle passes through origin & 4 and &
~ A& is a diameter

Thus the equation of circle is
(x-0)[x-4)+[y-3)(v-0)=0

= x2+!..f2—4x—35,f=lil

Q6

Since the circle is passes through origin and cut intercept a and b on
X - axlie & ¥ - axis

Coordinate of circle A = (0,4) and & = {2, 0)
AL s the diameter of circle

The equation of circle is
[x—aj(x—ﬂj+(r —Dj[g,f —bj= ]

= x4+ yZean+by =0
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Q7 Equation of circle in diameter form 15,
() (2-12) + (v-3) (x+1) =0
2 - Bx— 48437 = 2y—3=10

2 —8x—2y4+y  —51=0........... (1)
To find yantercept, put x=01n (1),
yi-2y—51=10

. 214+ 204

2
2t 208
}.?: —————
i
v intercepts are 1i4~.:'(1—3

Q8 : .
The given equations are
x*+2ax -b% =D i)
¥24+2px —-g2 = 0. (i)

We have, the roots of {ij wil| @ive the absissas and the rocts of [lij will give the ordinate of A& 8
respectivaly.

Mow roote of [T}

2 Fi
"E“”“‘E"" 0 mii [T o

o=

Roots of [i|]

_op 4+  Jap? 2
K= e Satie LR P

2
Coordinates of A = [-a++3° +b7, -2, fp? +q2]

8= {-a- yal+ b2, -P-JP_Z-'-GZJ

=0, the equation of circe is

[x +E—M[x +a+~j'a_2+b2]+(hf +P—.‘I'P§+|:~‘§“1f +F +1ﬁ52+¢2}= 0 0
= x2+5.f2+2&x+2ﬂv—(&2+b2+P2+q2]+EE+P2=ﬂ b c,)\'\

= x?+f3+Eax+2Pv—{b2+q2:]=ﬂ 6
The radiusis \é %_Q
s A
=Ja+p-(t+q) . OQ ’&
P 0\\\ @



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/ mm Wondershare

Remove Watermark g PDFelement

Q9

Here AB and AD are taken as x —axis and y —axis respectively.

Since ABCO is a
square thus the coordinate of

A= (0,0)
£ =(a0)C=(aa)
D =(0,a)

ED is a diameter
=0, the equation of drde is

[(w-a8)[x-0)+[y-0)][y-a)=0
= pEEptogkeapan
50,
x¥+pf-alx+yl=0

Q10

The given equation of line & circle in
2r-y+6=0.......[0)

2 4yZ_2y—Q =0..... (i)

The point of intersection of {i)& (i) is

w2+ (2% + 6 - 2(2%+6) -9 =0

X2 +dx? +24x4+36-4x -12-9=0

Sx?+20x+15=10

¥244x +3=0

(x +3){x+1)=0 = x=[(-3-1)
Ly =(0,4)

b

oA = [—31 Dj& g = [—1, 4j
A& is a diameter, so the equation of circleis

(% +3)(x +1) +(y - 0) (¥ - 4) =0 60 ,‘\\'C)
Tayladx -4y +3=0 (ZSD
= Ko+ ¥ " +a9K -4y +o=
\6 Q&


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

Q11
The trianale is formed by
x=Ei........(ij
¥ ='E|........|:ii:|8<
betmmy = 1o, i)

The line [iiij cuts the axis at
A =[D,i] and at &2 =[E,D]
T !

Mow, A8 will be the diameter of circle,
. eguation of circle will be,

{x—%j][x—ﬂjﬂy—tﬁ{y—%%ﬂ

2 z2_x_¥

= XKty " —5-—=10
& fom

= x2yy2_Z_ ¥ _g
b
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Figure shows four such circles.

Angle between v=x and v=-x 18 g

o Angle between OB and Q4 :?_ET

Hence, AR, BC, CDand AL are diamneters of circles.

ZBOQ= %T

| BO
sin SBOO=——
in LBOC= =
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